XVIII. Symbolic Conservatism and Operational Liberalism

       
A. We have seen that Americans prefer to call themselves 


conservatives. 

       

1.  And although some of the root of that may be 




linguistic, the effect is not. 



2. Voters also tend to prefer candidates and parties 



who call themselves conservatives. 

     
B. So this symbolic preference has real effects.

                  
1. When we examine the relationship between 




people’s ideological self-placement (i.e., Do you 



think of yourself as a liberal, moderate or

                         
conservative) and compare it to their spending 



preferences we find that liberals really are 




liberals (i.e., they want to spend more) but

                         
that many conservatives are actually spending 



liberals (i.e., they want to spend more too).

        
C. Liberal/Conservative: Preferences for policy 




outcomes

               
1. We can measure what citizens want government to 



do, and when the measures are repeated over 



time, we can get a good sense of patterns 

                       
of movement.

.

                   2.  Last time we saw spending preferences in six areas. 



Those were OK as illustrations, but a narrow set of 



possible issues running for a limited period of time.           

                   3. We really want to look at all issues over all 




available times.

                       
a. That is a difficult task. For the data have already 




been collected. We can't go back to 1960 and 




have Gallup, say, ask questions that weren't 

                            
asked at the time.

                  
4. In order to get at the attitudes underlying spending 



last time, we can average across the six issues 



(race, cities, health, education, welfare

                       
and the environment) issues and treated the 



average as the underlying dimension of 




spending preferences.

                       
a. For technical reasons, we can't just take the 




average of all the issue measures we have.  

                       
b. Basically that is because we can't know whether 




the issue measures that exist for a particular 




time are or are not representative of questions 



that might have been asked.

                       
c. That requires a statistical extraction procedure 




that does essentially averaging, but without 




the threat to inference from unrepresentative 




data that would entail. This process produces:

        
D. Public Policy Mood: Percent Liberal 1952-2000

             
1. The Mood Measure Over Time

                     
a. 1952: approx. 53% liberal increasing to about 




70% liberal by 1962 (higher water mark for 




liberalism – just before the civil rights 




movement began), then declines to about 




53% by 1980.  Starts to rise to about 67% 




by 1991 and starts to decline down

                           

to about 60% by 2000.

                
2. Conclusions:

                       
a. It does seem to move systematically.

                       
b. It shows more or less the patterns we expect, 




e.g. conservatism in 80s – and that 





conservatism came before RR and begins 




to suggest that his election did carry a 




message.
                       
c. But with one interesting deviation, it moves 




ahead of popular perceptions of 





moods/eras, whatever 
                           

1. Note that liberalism was “just before” 





Clinton’s election in 1992 and was 





lower, and decreasing, prior to 






Bush’s election in 2000.

                               

a. Policy response (e.g., 92-94-94 






sequence): Electorate as a 






whole is moderate as compared 





to either of the parties. 







Democrats are too liberal, 







Republicans are too








conservative.

                               

b. So, in general, whichever side is in 





office, the electorate moves 

                                   


in the opposite direction.  Thus, 






counter-cyclical.
                           

2. On the 2000 election it is important to 





note that Gore did about as well as 





he should have given the low rate of 





increase in real disposable income.  





(Bartels and Zaller, Presidential Vote

                                

Models: A Recount, unpublished paper 





from Zaller’s website)

                    
d. Economic optimism: personal and social 




goals story. Bad times retreat to personal 




goals (e.g., lower taxes); good 






times/confidence is the reverse, emphasis 




on social goals, the things government 




does; clean air to income equality.




1. More Specifically: Higher unemployment 




leads to greater support for liberal 





policies while higher inflation leads 





to less support for liberal policies. 





(Erikson, et. al., The Macro Polity)

               
3. Media Commentary: “Priming” again: What if media 


spin on government changes over time? 




Shouldn’t public attitudes follow? 

                          
a. The basic answer is “yes”, economic security 




produces liberalism.

     
E. The Relationship between Policy Mood and Elections
             
1. Policy Mood makes a key contribution to elections 



for many offices, but most potently where 




national issues predominate: The Presidency
                       
and the Senate.

                       
a. Back to Mandates: Full circle: Do elections then 




contain messages about what the public 




wants? Yes. e.g. 1992 signaled liberalism: 




1994 signaled conservatism, 1996 





moderation. 2000, probably nothing.
XIX. Presidential Approval

  
A. Classic Question: Do you approve or disapprove of the 


way George W. Bush is    handling his job as 



president?

            
1. Bush began with more disapproval (25%) than 




presidents typically receive.   Residue from the 



bitterness of the 2000 election.

        
B. Presidential Popularity Matters

         

1. The President’s popularity impacts both his own 



re-election chances, as well as Members of 



Congress from his own party.

                 

a. For example, each additional percentage point in 




presidential popularity increases the 





percentage of House seats the president’s 




party will retain in the next Congressional 




election by roughly .25%-.30%.

                     

(Jacobson, The Politics of Congressional 




Elections, 5th ed., pp. 157-158)

              
2. The more popular the president, the more of his 



legislative agenda will be passed by Congress.

              
3. Presidential popularity moves macropartisanship 



(of those identifying with one of the two major 



parties, what percentage are Democrats?), 

                  

which, in turn, effects everything else 




electorally.

                  

a. Clinton survived impeachment because 





Democratic voters didn’t desert him.  If they 




had, elected Democrats would’ve left Clinton 




in droves. 

              
4. Popularity at home helps a president overseas.

XX. What Moves Presidential Popularity?

       
A. Mueller Theses: Honeymoon

         

1. Presidents get a honeymoon period with the public.

                   
a. People want to give a new president “a chance” 




and will tend to hold criticism early on.

               
2. Honeymoons haven’t lasted as long lately.

                   
a. Clinton was being attacked by talk radio before 




he even became president.

                   
b. Bush had higher early negatives than presidents 




typically do because of bitterness stemming 




from the 2000 election.

                 
3. The deeper phenomenon here is the growing 




polarization of parties in American politics.

                       
1. The traditional good will for a new president is 




being replaced by instant partisan 






antagonism.

      
B. Coalition of Minorities

              
1. Imagine large number of issues and controversies.

I

              
2. If each one has a majority position and a minority 



position and President always chooses majority, 


what happens? 

                  

a. Well, it is possible that minorities care more 




about losing than majorities do about 




winning, and so one group at a time turns 




against the president.

                      

1. President alienates minorities, some over 





energy taxes, some over deficit, 

                          


some over health care reform, some on 





abortion, some on gays in military, etc.. 

              
3. Overtime what then happens is that the disaffected 



minorities grow in size, probably becoming a 



majority.

              
4. Therefore: other things equal, approval should go 



down over time.  In general, it does.

                      
a.  Note that first 16 quarters for all presidents 




is always downward.  

                      

1. After about 40 months, the typical 






president’s popularity has decreased 





roughly 20 points: from about 65% to 





about 45%.           

     
C. Effect of Economic Performance on Presidential 



Popularity

             
1. Lowering both inflation and unemployment make a 



president more popular.

             
2. However, some economic theories suggest, at least 


in the short-run (up to 2 years), it is either 




extremely difficult or impossible to reduce both 

                 

unemployment and inflation simultaneously.  

                 

a. The crux of it is that if the increase in income 




generated by reducing unemployment 




increases faster than the increase in the 




supply of goods and services, inflation will 



result.  This is typical over the duration of

                     

an expansion.  Reduced unemployment will 




give the previously unemployed more money, 




as well as boost the earning of the previously

                     

employed by tightening the labor market.

    

3. There is a class basis to unemployment and 




inflation.

                

a. Typically, unemployment, while of concern to 




everyone, is more feared by middle and 




lower income voters who are the 





backbone of the Democratic Party.

                       

1. Lower income workers are 







disproportionately in jobs that respond 

                           


quickly to changes in demand (e.g., 





production line workers as opposed

                           


to management).  You don’t find very 





many medical doctors drawing 

                           


unemployment compensation during a 





recession.

                  

b. Typically, inflation, while of concern to 





everyone, is of greater concern to higher 




income voters, who are disproportionately




Republican, because as you ascend the 




income ladder, the sources of income that 

                       

most keep pace with inflation 






(wages/salaries, home values), decline as 

                       

a percentage of income and are replaced 




by sources of income that do not keep 




pace as well with increasing inflation (e.g., 




stock and bond yields).  (above are from 




Hibbs, APSR, December, 1977 and The

                       

American Political Economy, chapters 2-3).

              
4. The above relationships lead to a class based 




response to unemployment and inflation, 




summed up by the “Marginal Substitution Rate” 



(the number of percentage points unemployment 



would have to decrease if inflation increased by 1% 



for the President’s support to remain the same). 

  


Democrats     
Independents         Republicans    

                  


.90                      2.0                           1.5                   

                                   (Hibbs, The American Political Economy, p. 




177)

                  


a.  Thus, if 80% of registered Republicans 





support President Bush and inflation 





then increases by 1 percentage point 





(which hurts Bush) and 







unemployment decreases by 1.5 





percentage points (which helps 






Bush), his popularity among 






Republican voters would be 






unchanged (i.e., would remain at 





80%).

                   

b. The greater the number above, the more 





inflation and less unemployment averse 





the group is because it takes larger 





decreases in unemployment to offset an 




increase in inflation.

              
5. While the growth rate may be important (as is 




related to unemployment and inflation), the 



change in real disposable income is an 




important predictor of the presidential vote 



(Zaller and Bartels unpublished

                   
paper at Zaller’s website; Hibbs, 1987).
                   
a. The lack of growth in real disposable income is 




why Gore didn’t do better.  Gore did about as 




well as he should have given the rate

                        

of growth in real disposable income (Zaller 




and Bartels).

              
6. While there are important class distinctions in 



response to economic outcomes, voters are 



more sociotropic than self-interested in terms
                  

of how they evaluate the economy.  

                  

a. Thus, it more matters how they perceive the 




economy as doing for “the nation” than for 



their own individual circumstances.
                      

(Kinder and Kiewiet, AJPS, 1979 and Kiewiet, 




1983, Macroeconomics and Micropolitics).

                 

b. Why aren’t class effects stronger? Altruism?

                      

1. Does the president actually have 






anything to do with family financial 

                          


standing?

                      

2. It’s easy to assume yes, in the abstract, 





so we have to think about real cases.

                               
3. And it is generally true that people 






blame and credit themselves for 

                          


most of their circumstances, not the 





government.

                          


a. True even of the unemployed.

                      

4. Even if the president does have 






something to do with personal 

                          


standing, it is virtually impossible to 





analyze the connection. 

                          


a. The causal chain that connects 







national economic policy to 







personal circumstance is long and 






exceedingly complicated. We don’t 





really know what effects it has on 






us personally.






b. However, tax cuts (e.g. Bush Tax 






Cuts) and spending programs 






are somewhat visible to voters.

                      

5. Are business conditions seen through 





partisan eyes?  Yes

                          


a. People store conclusions more 






effectively than evidence or 






argument. Conclusions are 






binary, "Economy Good,"  

                              


"Economy Not Good"

                          


b. Thus people exposed to economic 






analyses hear (1) an indicator: 






"The Commerce Department 






today released”; (2) a story that 






explains why the indicator 







matters; (3) a conclusion, "good 





news," "bad news."

                                   

c. The “conclusion” is what people 






remember, not the “indicator” 






or the discussion of what the 






indicator means.

                
7. If you want to predict public response to George W. 


Bush:

                       
a. ignore unemployment; 6 month lag

                          
b. ignore inflation; 12-18 month lag

                          
c. Watch consumer expectations.
    
D. The Impact of Noneconomic Factors on Presidential 


Popularity

              
1. Rally Round the Flag

                  

a. Drama, crisis, presidential action: Drama 




leads to national unity leads to approval of 




the president in the short run.

                      

1. If the action “sours” long-terms (e.g., 






Vietnam) this hurts the President.

                 

b. A short crisis that can be a disaster can still 




increase the President’s Popularity (e.g, 




The Bay of Pigs –however, no American lives 




were lost in the Bay of Pigs and the “crisis” 




was over quickly).  

                 

c. Domestic policy, by contrast, forces a President 




to select the interests of one group over 





another.  Not unifying the nation as a whole.

                 

d. “Rally Effects” are smaller in the post-Cold 




War era.  (e.g., Bush couldn’t sustain the 




short-term boost of the Gulf War – He

                      

wasn’t really as popular as the poll results at 




the close of the Gulf War indicated; Clinton 




didn’t get big or sustainable jumps from

                      

his actions overseas).

              
2. The effects of Noneconomic Factors/Events can be 



large.
                   
a. After removing economic effects, Watergate 




decreased Nixon’s popularity about 20 




percentage points, while Vietnam reduced

                       

Johnson’s popularity slightly over 20%.

                       

1. On Vietnam, the relationship was about 4-6 





percentage point declines for each 





1,000 American casualties per quarter.  





Since Johnson was sometimes running 





as many as 5,000 American deaths in 





Vietnam every quarter (i.e., 3 months), 





he was in the 20%, or so, range.  (The 





above comes from Hibbs, The American

                           


Political Economy, pp. 172-175).

XXI. Macro Level Opinion Change


A. Not that much, but enough to be important.

            
1. The Rational Public: On 58% of 1,128 repeated 



policy questions less than 6% change in 




aggregated opinion.

                  

a. More stability on domestic (63%) than foreign 




policy (51%).        

                  

b. However, the 6% figure above can be 





achieved by more than 6% changing 





opinions (offsetting changes – thus the 




above refers to a “net” change of 6%). 

              
2. Additionally, a 6% “net” move in something like 



Stimson’s “Public Mood” measure could easily 



spell the difference between one party or the 

                  

other party winning a presidential election. 

>>>>Next Notes Begin a Series of Notes on Particular Types of Issues in the Order in which they are Discussed in Erikson and Tedin, American Public Opinion (Tolerance, Trust, and Race)

I. Political Tolerance

A. Democratic theory often states public needs to be 



tolerant of the political views of others 

         

1. Reasons:

· 
     
a. Right of free speech 

·      

b. Competition of ideas 


B. People Give More Tolerant Answers in the “Abstract” 


(e.g., Do you believe in free speech?) than in the 


“Specific” (Do you think an admitted communist 


should be allowed to speak in Long Beach?)

    
C. First polling data to ask whether American public met 


this democratic criteria from the 1950s by sociologist, 

Samuel Stouffer:  Asked the basic questions:
       

1. "Suppose an admitted communists wanted to make 


a speech in your community. Should he be 



allowed to speak, or not?"
       

2. "Suppose he is teaching in a college. Should he be        


fired, or not?"
       

3. "Suppose he wrote a book which is in your public 

            

library. Somebody in your community suggests that 

            

the book should be removed from the library. 

            

Would you favor removing it, or not?"


   
D. Stouffer found the public was not very tolerant toward 


communists, socialists, or atheists.


   
E. Two possibilities that could lead to increased tolerance:

· 
1. Elite more tolerant than average citizen, surveys of 


convention delegates support this contention 


2. Better educated more politically tolerant and public 

increasing in education.  

II. Changing Levels of Tolerance for Atheists and  
Communists, 1954-1977: 

    
A. Percent giving the Tolerant Response to Each Questions
	Questions
	1954 Stouffer
	1977 NORC
	1993 NORC

	Should an atheist be allowed to speak?
	37
	63
	73

	Should an atheist be allowed to teach in college?
	12
	39
	54

	Should a book written by an atheist be removed from the library?
	35
	60
	70

	Should a communist be allowed to speak?
	27
	57
	71

	Should a communist be allowed to teach in college?
	6
	41
	41

	Should a book written by a communist be removed from the library?
	27
	57
	70

	Average
	24
	53
	63


Source: Sullivan, Piereson, and Marcus (1982), p. 55; Erikson and Tedin (1995), p. 152.

  
B. Does this show that the American public has become more tolerant?

        1. Targets of Intolerance (1978 NORC Survey)
	
	Least-Liked Group
	Second Least-Liked Group

	Communists
	29
	19

	Ku Klux Klan
	24
	14

	Symbionese Liberation Army
	8
	10

	Atheists
	8
	7

	Black Panthers
	6
	10

	Fascists
	5
	6

	Pro-abortionists
	4
	5

	Anti-abortionists
	2
	3

	John Birch Society
	1
	3

	Socialists
	1
	2

	Other Groups
	3
	2

	Don't know
	10
	19


Source: Sullivan, Piereson, and Marcus (1982), p. 86. N = 1509.   Other groups = Weathermen, Moonies, consumer advocates, Holy Roller Baptists, liberals, pacifists, labor unions, homosexuals, the Palestinian Liberation Army, the Black September Movement, ban handgun groups, Blacks, poor white trash, Anita Bryant's group, the mafia, policemen, politicians, capitalists, Jane Fonda's group, and Hell's Angels.

     C. Level of Tolerance for Content-Controlled Questions: 1978 (1987 updates)
	Percent Tolerant Least-Liked Group

	Members of the --- should be banned from being President of the U.S.
	16%

	Members of the --- should be allowed to teach in public schools.


	19% 

(19%)

	The --- should be outlawed.
	29% 

(31%)

	Members of the --- should be allowed to make a speech in this city.
	51% 

(50%)

	The --- should have their phones tapped by our government.
	59% 

(63%)

	The --- should be allowed to hold public rallies in our city.
	34% 

(32%)



	I would be willing to invite a member of the --- into my home for dinner.
	18%

	I would be upset if a member of the --- moved in next door to me.
	37%

	I would be pleased if my daughter or son dated a member of the ---.
	4%


Source: Sullivan, Piereson, and Marcus (1982), p. 67. N = 1509; Erikson and Tedin 
(1995), p. 154.

        
1. Some people are more tolerant of their least-liked  group than others.  
            
a. Why?
       

1. Perceived threat from least-liked group 


          

2. General acceptance of democratic norms: majority vote, 




minority rights, free speech 


                

3. General personality traits such as dogmatism 
                             






4.  Education – greater education means the individual has been 




more exposed to differing ideas. 
 

                

5.  Age, younger more tolerant 


                

6.  Religion, those with no religion more tolerant 


    

2. Concludes that American public of 1970s (1990s) only 



somewhat more tolerant than public of 1950s. 

             

a. Diversity of least-liked groups, however, may protect rights 




of minorities, as no majority to take away their rights.

 G. Type of political expression and levels of toleration

             
1. Public more tolerant of conventional forms of political expression 



such as voting, speeches, signing petitions.

             
2. Public disapproves by large margins of wildcat strikes, refusing to 



pay taxes in protest, occupying buildings or blocking traffic, 



painting slogans on walls, any type of violence.
   
H. Paradox of tolerance - what to do about extending  tolerance toward 


intolerant groups?
	II. The Relationship between Demographic Factors (e.g., education)  and Tolerance   

  A. Communist Speech:"Suppose an admitted Communist wanted to make a speech in your community. Should he be allowed to speak, or not?" (General Social Survey 1998)Group
	% Tolerant
	Difference

	Total Population
	68
	

	
Gender: 

Men
	



75
	

	Women
	64
	Gender = 11

	Religion: 

Conservative Protestant
	



54
	




	Liberal Protestant
	69
	

	Catholic
	69
	

	None
	89
	Religion = 35

	

Age: 

Under 30
	



73
	

	65 and over
	52
	Age = 21

	

Education 

Not High School Graduate
	



43
	

	College Graduate
	87
	Education = 44

	

Race: 

White
	



71
	

	Black
	57
	Race = 14


     
B. Atheist Speech: "Consider a person who is against all churches and 


religion. If such a person wanted to make a speech in your community 

against churches and religion should he/she be allowed to speak, or 


not?" (General Social Survey 1998)

	Group
	% Tolerant
	Difference

	Total Population
	75
	

	

Gender: 

Men
	



80
	

	Women
	72
	Gender = 8

	

Religion: 

Conservative Protestant
	



64
	




	Liberal Protestant
	75
	

	Catholic
	77
	

	None
	93
	Religion = 29

	

Age: 

Under 30
	



84
	

	65 and over
	57
	Age = 27

	

Education 

Not High School Graduate
	



55
	

	College Graduate
	89
	Education = 34

	

Race: 

White
	



78
	

	Black
	64
	Race = 14


     
C. Racist Speech


"Consider a person who believes that Blacks are genetically inferior. 



If such a person wanted to make a speech in your community 



claiming that Blacks are inferior, should he/she be allowed to 



speak, or not?" (General Social Survey 1998)
	Group
	% Tolerant
	Difference

	Total Population
	64
	

	

Gender: 

Men
	



69
	

	Women
	60
	Gender = 9

	

Religion: 

Conservative Protestant
	



54
	




	Liberal Protestant
	66
	

	Catholic
	65
	

	None
	78
	Religion = 24

	

Age: 

Under 30
	



65
	

	65 and over
	56
	Age = 9

	

Education 

Not High School Graduate
	



51
	

	College Graduate
	75
	Education = 24

	

Race: 

White
	



66
	

	Black
	56
	Race = 10



D. Gender Stereotyping


"Do you agree or disagree with this statement: Most men are better 


suited emotionally for politics than are most women?" (General Social 


Survey 1998)
	Group
	% Equal Roles
	Difference

	Total Population
	77
	

	

Gender: 

Men
	



77
	

	Women
	77
	Gender = 0

	

Religion: 

Conservative Protestant
	



67
	




	Liberal Protestant
	79
	

	Catholic
	80
	

	None
	85
	Religion = 18

	

Age: 

Under 30
	



81
	

	65 and over
	61
	Age = 20

	

Education 

Not High School Graduate
	



63
	

	College Graduate
	83
	Education = 20

	

Race: 

White
	



78
	

	Black
	73
	Race = 5


    
E. Pornography: Which of the following do you agree with: "1) There should 

be laws against the distribution of pornography whatever the age; 2) 


There should be laws against the distribution of pornography to 


persons under 18; or 3) There should be no laws forbidding the 


distribution of pornography ?" (General Social Survey 1998)

	Group
	% Always Ban
	Difference

	Total Population
	Always - 38% 

Under 18 - 58%
Never - 4%
	

	Gender: 

Men
	

27
	

	Women
	47
	Gender = 20

	

Religion: 

Conservative Protestant
	



51
	




	Liberal Protestant
	42
	

	Catholic
	34
	

	None
	19
	Religion = 32

	

Age: 

Under 30
	



19
	

	65 and over
	66
	Age = 47

	

Education 

Not High School Graduate
	



46
	

	College Graduate
	32
	Education = 14

	Race: 

White
	

40
	

	Black
	33
	Race = 7


     
F. Euthanasia (Netherlands legalize doctor assisted suicide in 2000)


"Person has right to end own life if this person is tired of living and 



ready to die?" (General Social Survey 1998)
	Group
	% right to die
	difference

	Total Population
	17
	

	

Gender: 

Men
	



20
	

	Women
	14
	Gender = 6

	

Religion: 

Conservative Protestant
	



8
	




	Liberal Protestant
	18
	

	Catholic
	14
	

	None
	38
	Religion = 30

	

Age: 

Under 30
	



24
	

	65 and over
	14
	Age = 10

	

Education 

Not High School Graduate
	



10
	

	College Graduate
	26
	Education = 16

	

Race: 

White
	



18
	

	Black
	9
	Race = 9


I. Political Trust


    
A. In the 1950s and early 1960s, the American Public was 


very trusting of the government.
    
B. Today, American Citizens are much less trusting of the 


government.

         

1. In 1960, about 72% trusted the government to do what 



is right. 1999: 38% (Erikson/Tedin, 6th ed., p. 157)

         

2.Generally, public does not trust the government to do 



what is right, sees it wasting, tax money, feels it is 



run for the benefit of special interests, etc.
     
C. Leads to questions of how healthy is the state of 



democracy when the public is so distrustful of 



government leaders.
 
          

1. Some argue public is only distrustful of the current 



set of leaders (lack of specific support) but that 



it has an enduring sense of attachment to basic 

              

structures of the political system - likes 




Constitution and basic form of government 



(diffuse support)


      
D. Public also has become less trustful of the leaders of a 


variety of institutions. 

      
           
1. Between the 1960s and early 1980s, trust declined 

               

46% for medical doctors; 39% for corporations; 



33% for the military; 27% for colleges; 26% for 



Congress; 21% for the Supreme Court; 

               

17% for TV news, 10% of Presidents and 10% for 


labor unions.


     
E. In general, those with less education, lower incomes, 


and who are older are more likely to feel government 


officials are crooked and less responsive to the 

         

public.

Government Trust Questions in ANES (1996 figures)

	
Trust in Government
	How much of the time do you think you can trust the government to do what is right --

	
	Just about always (trust)
	2%

	
	Some of the time
	30%

	
	Only some of the time (distrust)
	68%

	
	
	

	Wastes Money
	Do you think that people in the government --

	
	Waste a lot of money we pay in taxes (distrust)
	60%

	
	Waste some of it
	39%

	
	Don't waste very much of it (trust)
	1%

	
	
	

	Big Interests
	Would you say the government is pretty much --

	
	Run by a few big interests looking out for themselves (distrust)
	72%

	
	Run for the benefit of all people (trust)
	28%

	
	
	

	Crooked
	Do you think that --
	

	
	Quite a few of the people running the government are crooked (distrust)
	43%

	
	Not very many are
	48%

	
	Hardly any of them are crooked (trust)
	9%



F. Demographic Groups and Political Trust, Government 


Responsiveness, and Personal Efficacy (ANES 1996)

	
	Income
	Educ.
	Age
	Religion
	Region
	Race
	Sex

	Trust
	.07**
	.05**
	-.04
	-.02
	.00
	.00
	.03

	Waste $
	.03
	-.01
	.06**
	-.04
	.00
	.01
	-.04

	Big Interests
	-.01
	-.02
	-.01
	.01
	.00
	.01
	-.01

	Crooked
	-.05**
	-.08**
	-.09**
	.03
	.00
	.00
	.07**

	Responsiveness - 

Gov't Don't Care
	-.11**
	-.20**
	.09**
	-.00
	.00
	.01
	-.04

	Personal Efficacy - No Say
	-.15**
	-.25**
	-.05*
	.03
	.00
	.01
	.05*

	Too Complicated
	-.14**
	-.29**
	.07**
	.02
	.01
	.01
	.15**


     
G. Cynicism is not necessarily the result of policy 



differences. 

         

1. For example, using a seven point liberalism-conservatism scale (i.e., 


1 is most liberal and 7 most conservative, the distribution of 



opinion on perceived government policy appears to fit a 




normal curve with the mean, median and mode over “4.” 



(Hibbing and Theiss-Morse, APSR, March, 2001)

              
2. This, “perceived” government policy position is only 




slightly different that than the “perferred” position of 



4.4.

                  

a. Thus, “perceived” policy is a little bit more liberal than 




preferred  policy.

                  

b. While the difference between “perceived” and “preferred” 




policy is statistically significant, it is not substantively 




significant.

         

3. Process differences, not policy differences are what 



is reducing trust.
              

a. One of the best indicators of diffuse support for the 




political system is the willingness of people to 




comply with a law they do not agree with.
                  


1. If you think the process that produced the 





law is corrupt, you are less likely to think 





that you should obey it.

              


2. On a continuum from Direct Democrat 






(people make policy decisions

                  



themselves – say through town meetings) 





to Institutional Democrat (let elected 





officials make policy decisions) the public 





tends to be concentrated in the center, but 




perceives the political system to be

                  



operating much closer to the Institutional 





Democratic model.

                  

b. The public perceives both political parties as being 




very similar on the Direct 







Democrat/Institutional Democrat continuum.  




Both parties are perceived as being much closer 



to the Institutional Democrat position than the 




public prefers.

              
4. After controlling for a host of demographic factors, as 



well as the degree to which one perceives policy as 



being congruent with their preferences, the “process 



gap” (i.e., the gap between one’s preferred and 




perceived positions on the direct 






democrat/institutional democrat scale) is highly 




related to one’s willingness to comply with a law they

                  

disagree with.  (the above discussion comes from 



Hibbing and Theiss-Morse, APSR, March, 2001) 

I. Content of Public Opinion
    
A. Social Welfare
         

1. Most existing social welfare programs enjoy 





overwhelming support - Social   Security, Medicare, 



education programs.
Spending on Specific Domestic Programs (1996 ANES)
	
	Increase
	Same
	Decrease

	Schools
	67
	26
	6

	Homeless
	58
	31
	11

	AIDS research
	56
	33
	11

	Aid to college students
	53
	38
	9

	Childcare
	51
	37
	11

	Social Security
	47
	47
	6

	Poor people
	46
	42
	24

	Environment
	41
	51
	8

	Food stamps
	11
	42
	47

	Welfare
	11
	32
	57





2. Even though people don't like "welfare" they do want to 



give aid to the poor.




a. Support for social welfare does not extend to a 





guaranteed right to a good standard of living.




b. Much of the antagonism white voters have toward 




welfare comes from having negative views of 




African-Americans. (Martin Gillen’s research) 





1. Additionally, whites greatly over-estimate the 





percentage of those on welfare who are 





African-American and how great a 






percentage of government budgets are 





spent on welfare.






a. How whites perceive African-







Americans on welfare (i.e., are they 






“lazy”) is a much better predictor 






of their support for welfare 







programs and their image of the 






poor than their perception of 







whites on welfare.





2. Merely asking whites to respond to the issue 





of affirmative action significantly 






increases the likelihood that they will 





perceive African-Americans as 






irresponsible and lazy. (Sniderman and 





Piazza, The Scar of Race, p. 103)


B. Foreign Policy

        

1. Fewer opinions and less firm opinions than in other issue 



areas.

            

a. Prior to World War II, majority of Americans were 



isolationists, since World War II most 





American are internationalists.


            

b. Prior to Vietnam War, consensus on containment 




of communism as top foreign policy goal.


       

2. Great deal of support for president and his policies 




during an international crisis. (Rally Around the Flag 



Effect).

       

3. More highly educated more internationalist in views (e.g., 



more supportive of the United Nations. 





(Erikson/Tedin, Amer. Pub. Opinion, 6th ed., p. 176)       

  
C. Social and morality issues
       

1. Americans basically conservative on these types of issues


       

2. Support school prayer, death penalty, more difficult divorce laws


       

3. Oppose legalization of marijuana


       

4. Morality Issues: Abortion opinions: 




12% always oppose      




45% depends on situation    




43% always favor

                 >>  These abortion opinions stable since early 1970s
	By law, abortion should never be permitted.
	12%

	The law should permit abortion ONLY in case of rape, incest or when the woman's life is in danger.
	29%

	The law should permit abortion for reasons OTHER THAN rape, incest or danger to the woman's life, but only after the need for the abortion has been clearly established.
	16%

	By law, a woman should always be able to obtain an abortion as a matter of personal choice.
	43%


School Prayer
	By law, prayers should not be allowed in public schools.
	12%

	The law should allow public schools to schedule time when children can pray silently if they want to.
	56%

	The law should allow public schools to schedule time when children as a group, can say a general prayer not tied to a particular religious faith.
	21%

	By law, public schools should schedule a time when all children would say a chosen Christian prayer.
	9%



Law and Order Issues

                                 Crime control
	1-3. Some people say that the best way to reduce crime is to address the social problems that cause crime, like bad schools, poverty and joblessness.
	30%

	4. Neutral
	22%

	5-7. Other people say the best way to reduce crime is to make sure that criminals are caught, convicted and punished.
	48%



                                 Death Penalty
	Strongly favor death penalty for persons convicted of murder.
	62%

	Somewhat favor
	17%

	Somewhat oppose
	10%

	Strongly oppose death penalty for persons convicted of murder.
	12%



       a.  Increase in support from late 1970s, high level of support among population 

            in 1990s, varies by state of residents.

       b. States without death penalty laws, public on average 7 percentage points less         

           likely to support capital punishment

                                 Gun Control
Do you favor or oppose a ban on the sale of all handguns, except those that are issued to law enforcement officers?

	Favor gun control
	46%

	Oppose gun control
	54%



D. Civil Rights Issues


     

1. American's positions of civil rights issues changed 




dramatically over last 50 years.


         


a. Majority of white citizens favored school and neighborhood 




segregation in 1930s and 1940s 

         


b. Grew supportive of desegregation of public facilities in the 




1960s and 1970s. (Open housing trends.)


         


c. Support of integrations does not extend to 





government aid to minorities or affirmative 




action programs.

                            Government aid to African-Americans
	1-3. Some people feel that the government in Washington should make every effort to improve the social and economic position of blacks.
	18%

	4. Neutral
	23%

	5 - 7. Others feel that the government should not make any special effort to help blacks because they should help themselves.
	59%


                           Affirmative action
Some people say that because of past discrimination, blacks should be given preference in hiring and promotion. Others say that such preference in hiring and promotion of blacks is wrong because it gives blacks advantages they haven't earned.
	Strong favor affirmative action
	11%

	Favor affirmative action
	7%

	Oppose affirmative action
	17%

	Strongly oppose affirmative action
	66%




1. Merely asking whites to respond to the issue of affirmative action 


significantly
increases the likelihood that they will perceive 


African-Americans as irresponsible and lazy. (Sniderman 


and Piazza, The Scar of Race, p. 103)

   
2. Large support for equal role for women in society.


    
3. Significant support for protection of gay rights.

        

a. Protect against job discrimination - 64% favor

       

b. Approve of gays in military - 69% favor
  
E. Demographic Effects on Conservative Positions on 


Issues
	
	Income
	Education
	Age
	Religious
	Region 

(Nom)
	Race 

(Nom)
	Sex 

(h = female)

	Social Welfare
	
	
	
	
	
	

	Jobs
	.15**
	.11**
	.03
	.06*
	.03
	.17**
	-.12**

	Health Insurance
	.15**
	.11**
	.00
	.09**
	.05
	.09**
	-.08**

	Time Limit 
	.08**
	.03
	-.04
	.06*
	.04
	.12**
	.03

	Limit $
	.12**
	.03
	.06*
	.04
	.05
	.13**
	.01

	Environment 

vs. Jobs
	-.07**
	-.12**
	.12**
	.13**
	.06
	.07*
	.03

	
	
	
	
	
	

	International
	.15**
	.22**
	-.01
	.05
	.09**
	.07*
	-.04

	Defense $
	-.02
	-.12**
	.12**
	.08**
	.10**
	.08**
	-.10**

	Morality Issues
	
	
	
	
	
	

	Abortion
	-.11**
	-.18**
	.07**
	.30**
	.10**
	.06*
	-.03

	School Prayer
	-.10**
	-.19**
	.15**
	.07**
	.09**
	.10**
	.00

	Law and Order
	
	
	
	
	
	

	Crime
	-.01
	-.15**
	.06**
	.03
	.13**
	.08**
	-.06**

	Death Penalty
	.11**
	.01
	.00
	-.10**
	.05
	.26**
	-.09**

	Gun Control
	.05
	-.02
	-.06**
	-.01
	.10**
	.09**
	-.25**

	Civil Rights
	
	
	
	
	
	

	Women's Role
	-.11**
	-.13**
	.13**
	.22**
	.07*
	.08**
	.01

	Aid to Blacks
	.06**
	-.04
	-.01
	.01
	.03
	.16**
	-.10**

	Affirm. Action
	.15**
	.07**
	.00
	.04
	.10**
	.41**
	-.04


V.  Public Attitudes/Opinions About Economic Equality


A. The Preceding Discussion Should Suggest that While Few 

          

American’s Possess and Understand a Political Ideology,

          

They Do Have Core Beliefs that they can Translate Into

          

Opinions About Equality

     
B. American Beliefs About Individualism

          

1. As we will see, compared to citizens in most wealthy

              

democracies, Americans tend to be more concerned

              

with individualism, and, as a result, less communitarian.

              

a. Americans have a strong commitment to “Absolutist

                  


Individualism”: making the individual as self-




reliant as is practically possible.




b. The stronger the commitment to absolutist 





individualism, the weaker the role for government.

     
C. Why the U.S. Has Such a Strong Commitment to Absolutist

          

Individualism:      
          

1. Great Affluence: While in per capita (per person) terms,

              

the U.S. is not the wealthiest nation in the world, its high

              

relative wealth acts as a retardant force to government
              

programs to redistribute wealth.  If it isn’t broken, don’t

              

fix it.

              

a. Not coincidently, the greatest force for redistributing 




wealth was the great depression, when the 





economic system did not work well.

          

2. Frontier Experience: As absolutist individualism stresses

              

self-reliance, this means that an individual’s economic 



plight is dependent, in great part, upon his use of 




private property.  Private property rights took on a great 



value in the United States, in part, because through 



such programs as homesteading, the average person 



was better able to own property.  Hence more

              

people had a stake in property rights (not just the rich).  



This is much different than a nation such as Great 



Britain.

              

a. Generally speaking, government actions to help the 




poor involve some curtailment of property rights.

                  


1. Zoning possess a conflict with property rights: 





It allows people, through regulation, to 





accomplish what they can not afford to 





through the private property system.

          

3. Agrarian Experience: The basic calculus of redistribution 



through politics is numbers of poorer people against a 



relatively few wealthy ones. By spreading people out on 



farms, it is more difficult to organize them politically.  



Also, the notion of self-sufficiency that farming 




promotes hinders the desire for government 

              

assistance.

          

4. Ethnic Diversity: A basic rule of politics is that class-related 

              

politics only arise when ethnic/racial or religious 




differences are not great.  Put another way, politics is 



about division.  If you divide on a non-class basis, you 



will not divide on a class basis. 

             

a. This is why wealthy whites in the South liked 





segregation.  Not necessarily because they were 




racists, but because it divided the obvious 





economic alliance of poor African-Americans

                 


and poor whites.

             

b. Contemporary example of Republican control of the 




South.

          

5. Lateness of the Industrial Revolution:  While the U.S. did 



eventually industrialize and potentially pit numbers of 



workers against owners, the U.S. did so after a strong 



commitment to absolutist individualism was already in 



place.

              

a. Note the individualist nature of American unions: 




typically by “craft” and not all working in a plant.  




This gets workers to think about what is good for 




their craft and not about the plight of other 





workers.   

II. American’s Support for Individualism Produces Less Support for 
Government Programs to Reduce Income Inequality

   
(much of the discussion ahead comes from Everett Ladd & Karlyn 

Bowman, Attitudes Toward Economic Inequality, American Enterprise 

Institute Press, 1998) 

  
A. The U.S. Tends to be Less Supportive of Economic Egalitarianism

            
than Most other Wealth Democracies.



1. Americans are much more supportive of “humanitarianism”




(a belief that government should help those in need) 



than in “egalitarianism” (concern with economic 




inequality).  (Feldman and Steenbergen, AJPS, July, 2001)




a. This is why Americans are much more supportive of 




social welfare programs than programs to 





minimize economic inequality than involve 





significant government intervention in the 





marketplace.




b. Best predictors of support for Humanitarianism: 




income, emotional empathy, church attendence 




and party affiliation (all positive relationships – 




Democrats more Humanitarian)




c. Best predictors of support for Egalitariansim: limited 




government, economic individualism, being white 




and party affiliation (all but party are negative 




associations – Democrats more supportive)





(Feldman and Steenbergen, AJPS, July, 2001, p. 




665)

        

2. Statement: The government should provide a job for 




everyone who wants one.  

                                Percent Responding “Strongly Agree” or “Agree”            

U.S.    U.K.  France  W. Ger.  E. Ger.  Japan  Hungary Poland  Sweden  Aust.

47%   56%      NA       66%       93%        NA       85%        89%        72%      39%

(Ladd and Bowman, p. 120)

             

a. Note greater support among former communist 





nations.

                 


1. Australia is more rural, agricultural and, I 






believe, less unionized.

           
3. Question: Do you agree or disagree, it is the responsibility 



of the government to reduce the differences in income 



between people with high incomes and those with low 



incomes.

                                Percent Responding “Strongly Agree” or “Agree”            

U.S.    U.K.  France  W. Ger.  E. Ger.  Japan  Hungary Poland  Sweden  Aust.

38%    66%     NA        66%      89%        NA        75%        77%       53%      43%

             

a. It is important to note that while the U.S. is “low” in




support for government reduction of income




differences, many of these other nations already




have a more egalitarian distribution of income.

                 

b. Put another way, it is highly likely that if income 




differences were as great in these other nations




as in the U.S., the support for governmental 




income redistribution would be even higher

                     


than the above data indicate. (Ladd and Bowman, 




p. 120)              


B. Support for the Bush Tax Cuts



1. Setup: The Changing Distribution of Income in the 



U.S.



Changes in Upper Limit Constant 1999 Dollar Income: 1979-99

                            1979            1989             1999           Dollars          Percent                     

Poorest 20%    $22,201       $21,501        $22,826          $625              +2.8%

Middle   20%    $51,718       $54,817        $59,400        $7,682           +14.9% 

Richest   5%   $114,247    $132,962      $155,040      $40,793           +35.7%

Richest   1%                                                                                       +157%

Note: the figure for the top 5% is the lower limit while all others are upper  limits – the $22,201 is the highest family income of the poorest 20% 

[Source: Table F-1, Income Limits for Each Fifth and Top 5 Percent of Families All Races): 1947 to 1999.  Data for the richest 1% are from 1979-1997 and are from Paul Krugman, For Richer, New York Times, October, 2002, p. 2)

>>>>>NOTE: Today, the Richest 1% of American households


(income of $320,000, or more) has almost as much 


income (14.5%) as the entire poorest 40% American 


households.  

>>>>>>Further Note: In most other Wealth Democracies (e.g., 


Great Britain, France, Sweden, etc.) the poorest 40% 


have about a one-third greater share of income than 


in the U.S. (i.e., about 18%), health insurance as a 


matter of right and, in Sweden an absolute income 


noticeably higher than in the U.S. (e.g., the household 

at the 10th percentile in Sweden has an income 



roughly 60% higher than for the comparable 



household in the U.S. (Krugman, For Richer, cite 


below).  



2. Now: President Bush’s Tax Cuts




a. 2001: A tax cut with a 10 year cost of 1.35 trillion 




dollars (1.7 trillion including increased interest 




payments on the national debt) with the wealthiest 



1% of households (those with incomes over 




$320,000 per year receiving as much of the total 




benefits (36.1%) as the poorest 70% of American 




households combined. 





b. 2003: A tax cut listed at approximately 350 billion 




dollars over 10 years.  However, if all provisions 




are made permanent (rather than expiring in 3 




years), as the President wants, the cost will be 




between 800 billion to 1.1 trillion dollars.  The 




wealthiest 1% of households will receive almost 




twice as great a percentage of the benefits as the 




poorest 80% of households combined (38.9% vs. 




22%).



3. Public Support for the Bush Tax Cuts




a. With very high, and rising, inequality, one might think





it would be politically difficult to “sell” tax cuts as





favorable to the wealthy as President Bush’s Tax 




Cuts.





b. The Public Overly Upwardly Identifies





1. 19% of Americans thought that they were in the






richest 1% and another 20% expect to be so






someday. (Time Magazine Poll cited by






David Brooks – below cite)






a. Americans are more bothered by social







inequality than income inequality.







(David Books, Triumph of Hope Over







Self-Interest, NY Times, January 12,







2003)




c. The Public Tends to View Absolute and Not Relative





Gains. (Bartels, Homer Gets a Tax Cut, August, 




2003)





1. A CBS News Poll just before the 2001 tax cut 





found that 51% favored President Bush’s 





tax cut while 55% said that rich people 





would benefit most from it. (Bartels, p. 2)





2. A Harris Poll in June 2003 found that 50% 





thought the 2003 tax cut was “a good 





thing,” while 42% said it would help the rich 




a lot and only 11% said it would help the 





middle class a lot. (Bartels, p. 3)





3. Bartels Conclusions:






a. Three out of four people say the 







difference in income between the rich 





and the poor has increased over the 






past 20 years and most think this is a 





bad thing.






b. However, most support Bush’s tax cuts 






and even the repeal of the estate tax 






(which only effects estates over 1 






million dollars, which is 








approximately the wealthiest 2% of 






estates).






c. People who want the government to 






spend more money on various 







programs are more likely to support 






the tax cuts than those who do not.






d. People’s opinions abut tax cuts are 






strongly shaped by their attitudes 






about their own tax burden and are 






virtually unaffected by their attitudes 






about the tax burden of the rich.






e. Most Americans support the tax cuts not 






because they are indifferent to 







economic inequality, but because 






they largely fail to connect inequality






to public policy.


C. The Public’s View of the Democratic and Republican 


Visions of What Causes Economic Problems 



(below is from, The New Majority, edited by Stanley Greenberg and 


Theda Skocpol, pp. 281-282)



1. Republican Story:




Republicans believe that big government costs too 



much and limits people’s freedom.  Government 




regulation and taxes are a burden on business and 



individuals.  People should have more of their own 



money to spend as they wish.  If we place our hopes on 



the individual, expanded individual choice, and markets, 


we will be richer as a people and richer as a country.  In 



this period of rapid change, we should cut back 




inflexible and centralized government and give people 



the freedom to succeed on their own.




a. A respectable bloc of the electorate (30 percent) 




found the above message very convincing, and 




many more overall (63 percent) found it very or 




somewhat convincing.



2. Democratic Story:








The Democrats say this is a period of change, but for 



working middle-class families, it is also a struggle.  



People are working longer hours, rarely getting real 



raises and can’t keep up.  Democrats want to help 



families succeed in this period of change.  We should 



ensure expanded access to education and college.  We 



should help parents keep their kids safe and help with 



family leave and flextime.  We should ensure that people 


have adequate health insurance and a secure 




retirement.  In this period of change, families need 



somebody on their side.




a. Nearly three-quarters of the electorate (74 percent) 




found the above message either very or 





somewhat convincing (11 points higher than the 




Republican story. In fact, 38 percent found the 




above story very convincing.


D. America’s Greater Tolerance for Income 



Inequality Extends to Elites as Well as the 



Public



1. How Much Income Inequality Elites Perceive and What they 



Think is a “Fair” Degree of Inequality  (Verba, et., al., pp. 



130-131)

                        The Following Data are in Ratios (averages by group)

                   

Executive vs.                                  Executive vs.       

                    

Auto Worker                                Elevator Operator

                   

Perceived          Fair                        Perceived          Fair

                    

Income           Income                       Income          Income           

United States

   
Business      15.1/1             15.6/1                        27.9/1                 26.9/1                             

   
Labor            14.8/1               7.2/1                        24.9/1                 10.6/1

   
Republicans 13.2/1             11.3/1                        23.6/1                 18.0/1 

   
Democrats    15.4/1               8.2/1                        26.0/1                 12.1/1

Japan

   
Business         9.1/1               8.6/1                        23.9/1                 22.9/1                                       

   
Labor             10.1/1               4.1/1                        24.0/1                   8.9/1

   
Liberal Dem.    7.1/1               5.4/1                        16.5/1                  2.8/1

   
Center Parties 9.1/1               4.9/1                        21.7/1                 11.4/1

   
Left Parties    10.3/1               3.7/1                        24.2/1                   8.9/1

Sweden

Nat. Bus.         2.4/1              3.5/1                            3.0/1                   4.2/1

   
Local Bus.      2.1/1              2.9/1                           2.6/1                    3.5/1

   
Blue-Collar

         
Union               3.2/1             1.9/1                            4.1/1                    2.0/1                                                      

      
Center              2.2/1            2.1/1                             2.8/1                    2.4/1

   
Liberals            2.2/1            2.2/1                             3.0/1                   2.7/1

   
Conservatives 2.1/1           2.9/1                             2.6/1                    3.5/1

    

2. Interpretation 

        


a. The U.S. tends to be less egalitarian than both other 




nations.

III. Public Support for New Federal Policies for Major National 
Problems (from The 2% Solution by Matthew Miller)


A. National Health Insurance (Miller, p. 223)



1. Should the Federal Government “Do More”?




a. 74% said “yes.”



2. Proposal Read: “Low-income workers who do not 



receive health insurance from their employers 



would receive a federal grant that allows them to 


purchase basic health coverage.  The cost of the 


program would be about $80 billion a year.




a. Above proposal supported 69% to 29%.



3. Pro/Con argument then read: “Supporters of this 



proposal say it is unacceptable that 40 million 



Americans lack health insurance, and that the 



right way to solve the problem is for 





government to give people some help in buying 



private insurance, not to have a government-run 


health system.  Opponents of this proposal say 



that we cannot afford a new $80 billion federal 



program, and that its cost will rise as employers 


stop providing health coverage and make their 



employees rely on the federal subsidy.  This will 


increase pressure for a government health 




system.”




a. After the above statement was read, the initial 



proposal support decreased somewhat to 




54% and opposition to 36%.



4. Willingness to Pay more Taxes to Address: “Yes” 



by a 55% to 39% margin. (Miller, p. 223)


B. Low-Income Wage Subsidy


1. Should the federal government “Do More”?




a. 65% said “yes.” (Miller, p. 223)



2. Proposal Read: “The federal tax credit for low-wage 


workers would be greatly increased to that a 



full-time worker receiving the minimum wage 



would have an income of about $9 per hour, this 


would raise the income of these workers above 



the poverty line.  The cost of the proposal would 


be about $80 billion per year. (Miller, p. 224)




a. Above proposal supported 61% to 34%.





(Miller, p. 224)



3. Pro/Con Argument then Read: “Supporters of the 



proposal say that people who work hard 




deserve to have an income above the poverty 



line, and that this will improve the lives of 




millions of children in working poor families.  



Opponents of this proposal say that people in 



low-paying jobs should improve their skills and 



seek better jobs, and this will do more for their 



children than an $80 billion handout from 




taxpayers.”




a. After the above statement was read, support 




was reduced to 46% “yes” and 45% “no.”  




b. It won handily among women (51%-39%) and 




faired poorly among men (40%-52%).



4. Willingness to pay more taxes to address?




a. 38% “yes” but 53% “no.”



5. What to make of this?




a. Democratic pollster Guy Molyneux: 





(Miller, pp. 224-225)





1. “There’s still a tendency of middle-






class people to assume that 






people earning the minimum 






wage are very young.”





2. “People get these jobs starting out 






in life, but the natural 







progression is to develop more 






skills and education and work 






your way up to better jobs.  If 






someone isn’t doing that, 







there’s a presumption that 







there’s something wrong with 






the person.





3. “A lot of middle-class people fail to 





appreciate the extent to which 






the modern American economy





really does have millions and 






millions of these low-wage jobs 






that hard-working adults are 






stuck in.”


C. Better Teachers for Poor Schools 



1. Should the federal government “Do More”?




a. 68% said “yes.” (Miller, p. 223)



2. Proposal Read: “Federal funds would be provided 



to increase salaries in low-income communities 



so that these schools could attract good 




teachers.  Teacher salaries would be increased 



50% on average, with larger increases going to 



the best teachers.  In addition, the rules would 



be changed to make it a lot easier to dismiss 



poorly performing teachers.  The cost of this 



program would be about $30 billion per year.”




(Miller, p. 225)




a. The above proposal was supported by




a 59% to 36% margin.



3. Willingness to pay more in taxes to finance the 



proposal: 59% “yes” with 35% “no.”



4. Pro/Con Argument: “Supporters of this proposal




say it is wrong that the neediest children often 



have inexperienced or unqualified teachers.  We 


need to make teaching in poor schools the 




career of choice for talented young Americans 



who want to make a difference.  At the same 



time, we need to make sure excellence in 




teaching is rewarded, and that poorly 




performing teachers can be dismissed.  




Opponents of this proposal say that the biggest 



problem in poorly performing schools is poor 



management and a lack of accountability, not a 



lack of money, and that this is why so many 



good teachers will not work in these schools.  



We should encourage excellent teaching by 



raising standards or by giving parents more 



choice of schools, instead of just pouring more 



taxpayer money into these schools.”




(Miller, pp. 225-226)




a. After the above argument was made, support





decreased to 40% while 48% opposed it.





1. Women much more supportive (46%-





40%) than men (35%-56%).



5. What’s going on here?




a. Democratic Pollster Guy Molyneux:





1. “There’s a general sense that we’ve 





spent money on schools and it 






doesn’t get better.” “So, how do we 





know this is going to really result in 





improved teaching?” (Miller p. 226)





2. Molyneux felt that the teacher proposal






should be part of a broader education






agenda that included standards, 





professional development, and other 





such measures—so that the proposal 




is clearly seen as an effort to address 




the problem of teaching quality (the 





end), and not the problem of low 





salaries for teachers (a means to the 





end).





3. Also, rural voters didn’t support the 





idea, so it needs to be stressed that 





the proposal isn’t just for urban 






schools. (Miller, pp. 226-227) 

